3.4.1.2
1)

@
AL

@

3.4.1-4

3.4-13



3.4.1-4

3.4-14



@
3.4.1-7

3.4.1-7
(€))
3.4.1-8
3.4.1-8
90
ASJ Model 1998
( 500m
)
3.4.1-5

3.4-15




el
/Q: 1 I

B
| Pl

1
e

N TR i’%

U

0066600y =

1

10N
WA L

s BT E R
DR

ot 27

s R

: i T i

s AR T
: AR i

[ ZERRE ()
_:"-' ) _

T = v

S

o

: (HEEEE

s AHEREDE (R5ER)

s IR

s EEIRGE (R7ERR)

: fHERETIE

s (HERETIE (A5ERE)

s R HGE

s AHEERGE (R5ER0)

s TEREE

: LEMER (GRER)

=t @ PR

—t :ﬁ
@ 5

P£¥ﬁ1
i AT,

<75

D BB TR
-8

W T M

TR D ERE

s THAEE OMETICRD

A

T O

1:50,000
1

2 km

B3.4.1-5 FRithis

3.4-16



4

3.4.1-9
3.4.1-9
14
14
JIS Z 8731 12 13
12 11 6 ( )6:00
7 ( )6:00
13 11 8 ( )6:00
9 ( )6:00
14
14 12 12 ( )22:00
13 ( )22:00
12 13
12 11 4 ( )6:00
5 ( )6:00
13 11 8 ( )6:00
9 ( )6:00
14
14
JIS Z 8731 14
14 12 ( )22:00
13 ( )22:00
12 13
12 11 6 ( )6:00
7 ( )6:00
13 11 8 ( )6:00
9 ( )6:00
12 13
323
12 11 6 ( )6:00
7 ( )6:00
13 11 8 ( )6:00
9 ( )6:00

3.4-17




2)

3.4.1-10 13 11
()1 9 () (
10 64 )
3.4.1-10
Laeg)
D) D)
12 11 6 ( )6:00 » a
7 ( )6:00 5 @5
13 11 8 ( )6:00 20 a7
9 ( )6:00 5 15
14 12 ( )22:00 4 3
13 ( )22:00 5 5
12 11 4 ( )6:00 % 3
5 ( )6:00 5 @5
13 11 8 ( )6:00 % 3
9 ( )6:00 5 5
14 12 ( )22:00 o1 %2
13 ( )22:00 5 0
12 11 6 ( )6:00 o1 40
7 ( )6:00 5 0
13 11 8 ( )6:00 % 3
9 ( )6:00 5 0)
12 11 6 ( )6:00 62 >
s 77 ( )6:00 0 ©5)
13 11 8 ( )6:00 o >2
9 ( )6:00 70 5)
1.
B (5508 450B)
B 2
(6508 600B)
2.
3. 6:00 22:00 22:00 6:00
4.0 :
5.x :
6.C )

3.4-18




3)

3.4.1-11
1(RC ) 85dB
3.4.1-11
:dB
LA5
LAmax
75 79(L,s)
RC 82 88(Las)
2 78 81(Lys)
) 48 53(Lgs)
C )
C )
( ) 45(LAmax)
67 72(Lys)
1 68 71(L,s)
) 67 73(Ls)
C )
( ) 81(LAmax)
73 79(Ls)
a 59
2 3 ) 60
57
( )
o 67 2 | %
( )
( ) 57
43
52 55(L,s)
68 74(Lys)
64 69(L,s)
C )
( 323 ) 81(LAmax)
52 57(Ls)
RC 58 64(Lss)
) 73 78(Lys)
69 74(Ls)
« )
( ) 64(LAmax)
69 T4(Lw)
)1. 3.4.1-3
2. 323
«
3.

3.4-19




3.4.1-12

75dB 70dB
3.4.1-12
1dB
Aeq
323 62 62 75 70
)1. 22
2. 323

3.4-20




4)

1(RC )
1 323
323 2
3.4.1-6 7
LAS
80dB  (Lus)
75dB (L)
5dB
I-/-\eq
74dB  (Lueg)
69dB (Lreq)
5dB
3.4.1-13
3.4.1-13
323 o
323 2 2
323 2 323
323 2

3.4-21




L

RNV 1Y

HL
(:j‘i::) 1:1, 200
l:Ex
B AR, REH o2 50m
C T
03 == b6 T1LRCHE)) 254 16
ELAN)LarviE—H
BT dB(Lys) (RIEGRLHERER)

3.4-22



ca= - b (§EHE L1 (RCH{E) )
mmm: R EE (MBS X 3m)

B : dB(Lys)

3. 4.1-7
ELR)Lava—H
(RBRLBEEERRR)

3.4-23




